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 Estado de Santa Catarina 
Município de Bandeirante  

Caderno de Provas 
Edital de Processo Seletivo nº 002/2015 

 
 
                                                                                                                          Prova: Conhecimento Especifico 
                                                                                                                                         Português  
                                                                                                                                         Matemática 
 

Prova para provimento do cargo de:  
PROFESSOR DE INGLÊS 

� HABILITADO  

 

 
TIPO DE PROVA: 01 GABARITO  

 
 
INSTRUÇÕES: 
 

• Deixe sobre a carteira apenas o documento de identificação e a caneta esferográfica de tinta preta ou 
azul, de material transparente. 

• Preencha o CARTÃO DE IDENTIFICAÇÃO, com as informações solicitadas. 
• Confira se sua prova é para o cargo ao qual se inscreveu e se a mesma contém 20 questões, 

numeradas de 1 a 20. Caso contrário, informe imediatamente ao fiscal de sala. 
• Não serão aceitas reclamações posteriores por falha de impressão e/ou total de questões. 
• Para cada questão existe apenas UMA resposta certa. 
• A resposta certa deve ser marcada no CARTÃO DE RESPOSTA. 

 
VOCÊ DEVE: 
 

• Verificar o TIPO DE SUA PROVA, descrito acima, e preencher o 
quadrado do CARTÃO DE RESPOSTA ao qual ela corresponder, 
conforme ao lado demonstrado. 

• Verificar, no caderno de provas qual é a letra (A, B, C, D) da resposta que você escolheu e preencher 
essa letra no CARTÃO DE RESPOSTA. 

• Forma correta de preencher o Tipo de Prova e o Cartão de Resposta (Gabarito): → 
 
ATENÇÃO: 
 

• As marcações duplas, rasuradas ou marcadas diferente do modelo acima, ocasionará a anulação de 
sua prova e/ou questões.  

• É de responsabilidade do candidato o preenchimento dos dados do CARTÃO DE RESPOSTA. 

• A prova terá duração de 02h30min, incluído neste horário, o tempo para o preenchimento do 
CARTÃO DE RESPOSTA. 

• A saída da sala só poderá ocorrer depois de decorridos 30 (trinta) minutos do início das provas.  

• Ao sair da sala, entregue o CARTÃO DE RESPOSTA e o CARTÃO DE IDENTIFICAÇÃO ao fiscal da 
sala e retire-se imediatamente do local de aplicação das provas. 

 
 



 

2 

 

QUESTÕES DE CONHECIMENTO ESPECÍFICO 

 

1. Here are some examples of past sentences. Mark the wrong sentence. 

A) Did you shave this morning? 

B) I didn´t shaved this morning. 

C) I shaved this morning. 

D) I couldn’t shave this morning. 

 

2. Complete the present perfect sentence, “All of their children have (…) up and moved away”, with 

the right alternative bellow. 

A) grow 

B) grown 

C) grew 

D) growed 

 

3. Complete the question bellow with the appropriate pronoun. 

“To (…) should the documents be sent?’ 

A) What. 

B) Which. 

C) Whom. 

D) Who. 

 

4. Complete the sentence with an appropriate verb. 

“If I’m not too busy, I (…) to help you in the garden later today.” 

A) Phone. 

B) Promise. 

C) Buy. 

D) Own. 

 

5. Underline the best answer for the tag question bellow. 

“'This is wrong, my father, isn’t it?” 

A) No, it is. 

B) No, it isn’t. 

C) It does. 

D) Yes, it is. 
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6. Mark one corresponding passive sentence. 

“I gave him my consent.” 

A) My consent was given to him. 

B) My consent that I gave to him. 

C) I gave my consent to him. 

D) He gave my consent. 

 

7. Mark the right reporting and reported clauses. 

A) Bob tell her that he didn’t think the fire was coming toward him. 

B) Bob told her that he doesn’t think the fire was coming toward him. 

C) Bob told her that he didn’t think the fire was coming toward him. 

D) Bob told her that he don’t think the fire was coming toward him. 

 

8. Mark the right reflexive pronoun. 

“She felt (…) growing angrier every moment.” 

A) Himself. 

B) Herself. 

C) Myself 

D) Themselves. 

 

9. Complete the dialog with the better verb sentence. 

A: I can’t come there today. 

B: (…) you there tomorrow evening, then. 

A) I‘ll see. 

B) I‘d see. 

C) I’m going to see. 

D) Will I see. 

 

10.  Here are some examples of past perfect sentences. Mark the wrong sentence. 

A) He would do Mark a great favor by printing something he had written. 

B) He would do Mark a great favor by printing something he had wrote. 

C) I was sure that I had met her before. 

D) I was sure that I had already met her before. 
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Read the notice bellow and answer the questions 11 and 12. 

American singer Lionel Richie will perform 20 shows in Las Vegas next year. 

The Grammy Award winner announced the "All the Hits" show at the AXIS at Planet 

Hollywood Resort and Casino, which begins in April. In an interview, the former Commodores 

singer said he had seen many of his peers, including Elton John, Rod Stewart and Celine Dion take 

up residency in the city with successful runs. 

"Vegas was cool and then Vegas was not cool for a while, and then now it's not only cool, but 

it's amazing now, it's a destination," the 66-year-old said. "I finally asked my specialist in Vegas, my 

21-year-old son, what do you think? And he said 'It's the coolest thing in the world dad'. So we are 

coming to Vegas." 

The show will feature the singer's well-known hits such as "All Night Long", "Dancing on the 

Ceiling", "Hello" and "Stuck on You", which he said would not be given present-day treatments. 

"These are eras in not only my life but in a lot of people who are going to sit in the audience 

... or the kids who missed that era," he said. "They want to be able to feel like 'wow, we were back in 

19 whatever', and they are part of it. It's fun now presenting it in its proper era." In June, Richie 

wowed revelers at Glastonbury music festival in southwest England. A week later he topped the 

British music charts. 

Adapted from: http://www.reuters.com/article/2015/09/17/us-music-richie-

idUSKCN0RH20R20150917 

 

11.  What did Lionel Richie say about the coming shows in Las Vegas? 

A) He said that Las Vegas was a destination. 

B) He said that Las Vegas was a missed era. 

C) He said that Las Vegas was improper. 

D) He said that Las Vegas was a bore. 

 

12.  In the quote, “In June, Richie wowed revelers at Glastonbury music festival in southwest 

England.” What is the meaning of the verb “wow”? 

A) To move your feet and body to the rhythm of music. 

B) To feel excited. 

C) To make someone feel great excitement or admiration. 

D) To sing awfully. 
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QUESTÕES DE PORTUGUÊS 

 

13. Não é sinônimo de galvanizar: 

A) Eletrizar. 

B) Desestimular. 

C) Animar. 

D) Incentivar. 

 

14. São os termos necessários para a formação das orações: 

A) Citações análogas. 

B) Termos acessórios da oração. 

C) Termos essenciais da oração. 

D) Termos integrantes da oração. 

 

15. Assinale a alternativa incorreta quanto à concordância: 

A) Faz dois meses que não chove. 

B) Há muitas pessoas participando da reunião. 

C) Ventava intensamente nos dias de chuva. 

D) Fazem dois meses que ela viajou. 

 

16. Deveriam ter sido escritas com S e não com Z as seguintes palavras: 

A) Cazaca – Ciozo. 

B) Buzina – Desajuizar. 

C) Revezar – Hipnotizar. 

D) Fuzilar – Introduzir. 

 

17. É um numeral multiplicativo: 

A) Três. 

B) Terceiro. 

C) Triplo. 

D) Terço. 
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QUESTÕES DE MATEMÁTICA 

 

18. Para criar uma escultura, Joel utiliza placas de 0,5m². Sabe-se que em sua nova escultura, Joel irá 

cobrir o perímetro de um quadrado perfeito que tem 25m² área por 1m de altura. Quantas placas 

ele irá usar? 

A) 40 placas 

B) 20 placas 

C) 80 placas 

D) 35 placas 

 

19. Uma fábrica de bolachas água e sal utiliza 100l de água para produzir 50kg de bolachas. Para se 

garantir a produção de 1 tonelada de bolachas durante um possível período de seca, essa empresa 

deve investir em um reservatório de: (considerar 1000l=1m³) 

A) 4m³ 

B) 3m³ 

C) 2m³ 

D) 1m³ 

 

20. Uma churrascaria analisou a rotina de seus clientes e viu que eles atendem em média 10 

clientes por hora. O horário de funcionamento é das 11h às 22h, o preço do rodizio é R$ 50,00 por 

pessoa e o custo da churrascaria é de 60%. Qual o lucro diário dessa churrascaria? 

A) R$ 1.100,00 

B) R$ 1.650,00 

C) R$ 2.200,00 

D) R$ 3.300,00 




